fﬁ:’q\\ eco
) |pass
PORT. :hager

Product Environmental Profile
Rocker push button 1-gang 230/24 V

Company information ‘ References covered

Hager For complete list of the covered references, see details in Appendix.
132 Boulevard d’Europe

F 67215 Obernai Cedex

www.hagergroup.com

A question concerning the Product Environmental Profile: infopep@hager.com

Methodology

PEP has been performed according to the PCR version PEP-PCR-ed4-2021 09 06 and PSR version PSR-0005-ed3.1-2023 12 08 issued by the PEP ecopassport program.
For further information, please see the website of the program www.pep-ecopassport.org

Reference product

Reference product identification Establish, support and interrupt the rated current 1A and rated voltage 230/24V, for a wall-mounted

WDE56003 installation, according to the appropriate use scenario, and for the reference service life of the product of 20
years.

Use scenario based on :

PSR product Category : PSR-0005-ed3.1-2023 12 08 The functional unit is based on the use scenario recommended by the PCR for the category of the reference

3.7. Switches product.

PEP ecopassport 1/5 HAGE-01400-V01.01-EN



Materials and

substances

All useful measures have been adopted to ensure that the materials used in the composition of the product do not contain any substances banned by the legislation in force at the time of marketing.

PEP ecopassport 2/5

Plastics Others
g % g % ] %
PA6 15.38 17.8% Steel 28.80 33.3% Cardboard 23.67 27.4%
PE-LD 0.41 0.5% Brass 3.70 4.3% Urea 2.62 3.0%
Steel 2.50 2.9% Formaldehyde 2.62 3.0%
Stainless steel 1.24 1.4% Cellulose acetate fibres 2.25 2.6%
Zinc 0.09 0.1% Wood 2.06 2.4%
Other 0.02 <0.1% Other 1.13 1.3%
Total mass of reference product with raw material
" 86.48 g
packaging :
Total mass of reference product 8227 g

(Product + packaging)

System Boundaries

The environmental information included in the PEP covers all the stages of the life cycle, from "cradle to grave".

Manufactu Distribution Installation Use End of life Module D

j=2}

£
o © 73
3] o > o
o o) 2 O =
c 3 £ £ ) 3R] &
S 51 c c u— = = = = Es
E=1 © kel kel S 3 3 3 2 >'c_> S
8 2 5 o ® c® ST& I ° € £3 T3
s £ c c e g G5 o 9] € - 29 29 5 o5 2 g3

X0 © = c g Q =0 o @ 5 c ==l kel 28 i} _ o

53| £ 5 §8 g5 52 | § . 2 s |eg| 58| 5 | =E |85 | 3 o€
58| o B 2 g2 S5 g s 8 8 5o | @ = sg | €2 8 S S
= 0 < 8 30 © © a8 9] 3 <] S 29 IS £ a8 i} a © 7
= = = = = © = 5 @ ="} 7] = o = 7] 0 >
95 5 2 9 S Q © B c o o 7 3> 5 3 c S o o9 a = o
T 5 = 5] 2] B ® 52 ] 9] & g o To K €5 = % o
Ec < = aa =Y o 2 = 14 s £ e < a] g 2 = S <
= © IS o o » 2 3 5 = Eg 23
T @» < < oS = = [0} T 0 c
14 = = = 2 © £ o 3 S
o w = = ?
[ K] o

‘G

B3 B4

Life cycle stages

Distribution

Manufacturing

These products are manufactured by a site that has received an environmental certification
1SO 14001.

The packaging has been designed in accordance with current regulations. In particular,
the European directive 94/62/CE relative to packaging and packaging waste.

This phase takes into account raw materials, manufacturing processes, production offcuts
and their end-of-life treatment, upstream transport of materials and sub-assemblies to the
manufacturing site, and transport from the manufacturing site to the final logistics platform.

The used packaging is 100% recyclable or recoverable.
Packaging and logistic flows are continuously improved in order to reduce their impact.

This phase taken into account the transport of the finished product, including
packaging, to its place of use.

Installation

Installation processes
The processes to install the product are not considered in this study because of their weak impact compared to the other life cycles steps.

This phase only take into account the impact of the packaging waste treatment is taken account.

Installation elements (non delivered with the product)
Elements non delivered with the product and needed to install the product are not considered.

Power loss / load dependent

Power consumption / not load dependent

Active mode Inactive mode Active Sleep phase Passive Sleep phase Turn off phase
Watt % of time Watt % of time Watt % of time Watt % of time Watt % of time
0.00045 30% 0 70% 0 100% 0 0% 0 0%

This corresponds to a total energy consumption of 0.02 kWh for the use span of 20 years.

Energy model of the use phase :
Europe

Const bl

and 1ance :

None

HAGE-01400-V01.01-EN



End of life

Considering the complexity of the recycling channels for electric and electronic equipment impacts, we rely mainely on ESR modules (datasets for WEEE product end of life).

The recycling potential of the product is: 55%. The calculation of this rate is based on the method of the IEC/TR 62635.

Environmental impacts

Evaluation of the environmental impact covers the following life cycle stages: raw materials + manufacturing (RMM), distribution (D), installation (I), use (U) and end of life (EoL).

All calculations are done with EIME software version 6.3.1-3 with the database version CODDE-2025-04 .
Indicators set : Indicators for PEF EF 3.1 (Compliance: PEP ed.4, EN15804+A2) v2.0

PEP representative of the covered products marketed in: Europe

Energy models considered for each phase

Manufacturing Distribution Installation End Of Life

A1-A3 A4 A5 C1-C4

Environmental impact indicators

: . Manufacturing Distribution Installation (VETY End Of Life

Indicators Unit A1-A3 Ad | A5 | B1-B7 | c1-Ca | GLOBAL | Module D
Acidification (PEF-AP) mole H+ eq. 2.91E-03 2.12E-05 7.62E-05 5.08E-05 3.80E-04 3.44E-03 -1.51E-03
Climate change - Total (PEF-GWP) kg CO2 eq. 5.20E-01 1.34E-02 6.02E-02 9.70E-03 6.34E-02 6.67E-01 -1.00E-01
Climate change-Biogenic (PEF-GWPb) kg CO2 eq. -2.94E-02 5.49E-08 3.61E-02 2.14E-04 8.17E-03 1.51E-02 -1.02E-03
Climate change-Fossil (PEF-GWPf) kg CO2 eq. 5.50E-01 1.34E-02 2.41E-02 9.49E-03 5.53E-02 6.52E-01 -9.90E-02
Climate change-Land use and land use change

kg CO2 eq. 3.10E-08 2.03E-08 1.79E-10 0.00E+00 4.61E-10 5.20E-08 0.00E+00
(PEF-GWPIu)
Ecotoxicity, freshwater (PEF-CTUe) CTUe 4.69E+02 3.92E-01 3.40E-01 1.45E-02 6.25E-01 4.71E+02 -4.87E-01
EF-particulate Matter (PEF-PM) '”gi'::;‘g;"f 1.60E-08 1.82E-10 4.47E-10 3.98E-10 3.14E-09 2.02E-08 -8.30E-09
Eutrophication, freshwater (PEF-Epf) kg P eq. 8.42E-06 5.02E-08 3.33E-07 2.32E-08 1.18E-06 1.00E-05 -1.34E-04
Eutrophication, marine (PEF-Epm) kg N eq. 3.83E-04 3.84E-06 3.12E-05 5.94E-06 1.30E-04 5.54E-04 -1.12E-04
Eutrophication, terrestrial (PEF-Ept) mole of N eq. 4.06E-03 4.22E-05 2.29E-04 9.53E-05 6.12E-04 5.04E-03 -1.38E-03
Human toxicity, cancer (PEF-CTUh-c) CTUh 3.21E-08 2.63E-12 2.66E-09 1.20E-12 8.85E-11 3.48E-08 -7.00E-10
Human toxicity, ancer (PEF-CTUh-nc) CTUh 4.80E-08 5.01E-11 7.36E-11 2.84E-11 2.01E-09 5.02E-08 -1.54E-08
lonising radiation, human health (PEF-IR) kg Bq U235 eq. 2.00E-01 4.75E-04 3.46E-03 1.27E-02 4.71E-03 2.21E-01 -1.33E-03
Land use (PEF-LU) No dimension 6.25E-03 5.74E-05 8.02E-05 2.57E-04 1.31E-01 1.38E-01 -2.07E+00
Ozone depletion (PEF-ODP) kg CFC-11 eq. 3.77E-08 1.63E-10 3.54E-10 4.16E-11 6.53E-09 4.48E-08 -3.68E-09
f;g;‘f;'gg‘;ja' ozone formation - human health | o ¢ NMyVOC eq. 1.36E-03 1.36E-05 5.20E-05 1.88E-05 1.78E-04 1.62E-03 _5.10E-04
Resource use, fossils (PEF-ADPf) MJ 1.88E+01 2.38E-01 2.49E-01 2.33E-01 8.93E-01 2.05E+01 -7.77E-01
;,EEEKEEP‘SE' D L kg Sb eq 3.74E-04 4.79E-09 1.27E-09 3.15E-09 2.63E-07 3.74E-04 _5.18E-06
Water use (PEF-WU) m3 eq. 8.97E-01 4.83E-04 2.10E-03 7.35E-04 1.47E+01 1.56E+01 -2.61E+01
Resource use indicators
N Manufacturing Distribution Installation Use End Of Life

Indicators A1-A3 Ad ‘ A5 ‘ B1-B7 ‘ c1-Ca ‘ GLOBAL | Module D
Net use of fresh water 2.09E-02 1.13E-05 1.61E-04 1.72E-05 4.12E-01 4.33E-01 -6.25E-01
Total primary energy 1.93E+01 2.39E-01 2.82E-01 2.87E-01 9.70E-01 2.11E+01 -1.12E+00
Total non renewable primary energy 1.88E+01 2.38E-01 2.49E-01 2.33E-01 8.93E-01 2.05E+01 -7.77E-01
Total renewable primary energy 4.41E-01 7.52E-04 3.34E-02 5.45E-02 7.71E-02 6.07E-01 -3.40E-01
Non renewable primary energy used as energy 1.80E+01 2.38E-01 2.49E-01 2.33E-01 8.93E-01 1.96E+01 -7.77E-01
D N e (T G 8.77E-01 0.00E+00 0.00E+00 0.00E+00 0.00E+00 8.77E-01 0.00E+00
Use of non renewable secondary fuels 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00
Renewable primary energy used as energy 1.85E-01 7.52E-04 3.34E-02 5.45E-02 7.71E-02 3.50E-01 -3.40E-01
Renewable primary energy used as raw material 2.56E-01 0.00E+00 0.00E+00 0.00E+00 0.00E+00 2.56E-01 0.00E+00
Use of renewable secondary fuels 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00
Use of secondary material 1.38E-02 0.00E+00 0.00E+00 0.00E+00 0.00E+00 1.38E-02 0.00E+00

PEP ecopassport 3/5 HAGE-01400-V01.01-EN



Waste category indicators

Manufacturing

GLOBAL

Indicators Distribution |

A1-A3 A4
7.50E+00 5.61E-05
1.83E-01 1.25E-03
3.84E-05 9.87E-07

Installation Use
A5 B1-B7

1.36E-03 2.68E-04
6.96E-03 1.46E-03
1.58E-06 3.45E-07

End Of Life |
c1-c4
3.34E-03
4.66E-04
2.01E-07

0.00E+00
0.00E+00
0.00E+00

7.51E+00
1.93E-01
4.15E-05

Hazardous waste disposed

Non hazardous waste disposed

Radioactive waste disposed

Output flow indicators

Indicators GLOBAL

A1-A3 A4 C1-C4

Manufacturing Distribution
A5 B1-B7

Installation | Use | End Of Life |

Components for re-use 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00
Exported energy 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00
Materials for energy recovery 9.38E-04 0.00E+00 1.99E-03 0.00E+00 0.00E+00 2.93E-03 0.00E+00
Materials for recycling 3.00E-02 0.00E+00 1.82E-02 0.00E+00 0.00E+00 4.81E-02 0.00E+00

Biogenic carbon content

Packaging Cardboard

Biogenic carbon content (ratio) 2.80E+01 3.78E+01 3.95E+01

2.37E-02 1.17E-04 2.06E-03 2.58E-02
Biogenic carbon content (declared unit) 6.63E-03 4.41E-05 8.13E-04 7.49E-03
Biogenic carbon content (functional unit) 6.63E-03 4.41E-05 8.13E-04 7.49E-03

ADEME APESA/RECORD EN 16485

0.00E+00 0.00E+00 0.00E+00 0.00E+00
Bioge bon conte 0.00E+00 0.00E+00 0.00E+00 0.00E+00
Bioge bon conte 0.00E+00 0.00E+00 0.00E+00 0.00E+00

Extrapolation rules

Additional references (see Appendix) covered by PEP, the environmental impacts for each phase and indicator are derived from life-cycle analysis (LCA). The impact values are either
directly calculated by LCA or by extrapolation following PEP Ecopassport rules. However, some of the detailed conditions applied in those cases may differ from the main reference.

Verification

Drafting Rules PEP-PCR-ed4-2021 09 06
Supplemented by PSR-0005-ed3.1-2023 12 08
Information and reference documents: www.pep-ecopassport.org
Validity period: 5 years

Registration N°:  HAGE-01400-V01.01-EN

Verifier accreditation N°:  VH65
Date of issue: 9-2025
Independent verification of the declaration and data, in compliance with ISO 14025 : 2006

Internal @ External o
The PCR review was conducted by a panel of experts chaired by Julie Orgelet (DDemain)

PEPs are compliant with XP C08-100-1:2016 or EN 50693:2019
The elements of the present PEP cannot be compared with elements from another program.

Document in compliance with ISO 14025 : 2006 « Environmental labels and declarations. Type Ill environmental declarations »

Nota :

The picture has no contractual value.

All numerical values indicated in this document may vary and depend of many factors such as the tolerance related to materials, the usage and environment conditions of the products, installation characteristics ... , real values for a product in a concrete
application may therefore change.

The usage time mentioned in this document is an average duration chosen for the need of the calculations. This value cannot be assimilated to the minimum, average or real life time.

The responsibility of the company, issuing this document, can never be engaged if differences would be noticed between the values given by this document and real ones, whatever the causes and/or consequences would be.

PEP ecopassport 4/5 HAGE-01400-V01.01-EN



Appendix

(PEF-Epm) - [kg N eq.]

, terrestrial (PEF-Ept) - [mole of N eq.]
Land use (PEF-LU)

ion, marine
Exported energy - [MJ]

Components for re-use - [kg]
Materials for recycling - [kg]
(PEF-ADPe) - [kg Sb eq]
Total primary energy - [MJ]

Net use of fresh water -
Radioactive waste disposed - [kg]

Hazardous waste disposed - [kg]
Materials for energy recovery - [kg]
Non hazardous waste disposed - [kg]
Resource use, minerals and metals
Total renewable primary energy - [MJ]
Use of secondary material - [kg]
Water use (PEF-WU) - [m3 eq.]

Acidification (PEF-AP) - [mole H+ eq.]
diation, human health (PEF-IR) - [kg Bq U235 eq.]

Resource use, fossils (PEF-ADPf) - [MJ]
Use of renewable secondary fuels - [MJ]

mate change - Total (PEF-GWP) - [kg CO2 eq.]
Total non renewable primary energy - [MJ]

Ecotoxicity, freshwater (PEF-CTUe) - [CTUe]
Human toxicity, cancer (PEF-CTUh-c) - [CTUh]
Use of non renewable secondary fuels - [MJ]

Ozone depletion (PEF-ODP) - [kg CFC-11 eq.]

Eutrophicati
Renewable primary energy used as energy - [MJ]

Climate change-Fossil (PEF-GWPY) - [kg CO2 eq.]
Eutrophication, freshwater (PEF-Epf) - [kg P eq.]

Non renewable primary energy used as energy - [MJ]

Human toxicity, non-cancer (PEF-CTUh-i

Climate change-Biogenic (PEF-GWPb) - [kg CO2 eq.]
Eutrophicatior

Renewable primary energy used as raw material - [MJ]

nising ra
Non renewable primary energy used as raw material - [MJ]

Climate change-Land use and land use change (PEF-GWPIu) - [kg CO2 eq.]
EF-particulate Matter (PEF-PM) - [Incidence of diseases]
Photochemical ozone formation - human health (PEF-POCP) - [kg of NMVOC

WDES55003 sove0a| sazeor| wa0eos| seomor| seseiof oovevoo| wszeor| rsseos| r3seoa| wa0moa| oooevo| aseeos| soserr| zoseos| arseos| r3seor| oovevoo| oovevoo| avveor| sereos| soseor| oovevo| sereos| sweos| tsomos| 2o2eor| 7eoeoz| oovevo| eoseor| zeseor| eoseor| emeor| 7eoeoz| oooevoo| oooeroo| oooevoo| 1aseon

WDE34343 soseod| 101€01| azse0s| aroece| soserof omeeoo| 772601| 1seecs| soreos| oeoeos| oooeeoo| tereos| 1aieto| areeos| suess| 2101 cooeeoo| ocoeeoo| soseor| a7ies| 121Ew0| oooevoo| o72E00| asseoo| 2e0e0s| 20iecs| 1oreer| oooevon| r2tev0| asoE0r| 12iEs0o| 1seeeo| 1oresr| oooevon| oooevon| oooewon] 2iseent

WDES56003 -151603| 10001 -102603| 9s0E0z| ooveso0| ooveson| 5701 13as0s| -112804| -130E05| oooeson| oooeson| 7o0E10) -1saEos| 135603 -207€400| ooveson| ooveson| 6zsE01| ooveson| 777E0r| ooveson| 3soEos| -asoEs| s1Eos| oooeson| savear| oooeswo| 77rEar| swwes| 77rEar| 11zessn| saceor| oooeson| oooeean| oooean) 26tEnat

WDE36003 qsie0s| 0ose0r| 01E0s| wsseoo| oooeeoo| ouoeeoo| seeor| asseod| aizeoa| rsseos| oooeeoo| ocoeeoo| soeero| 1sieos| asse0s| zorevoo| cooeeoo| oooeeoo| sz2e01| oooeeon| 73e01| oooevoo| asseoo| azeeoo| soseos| occoeeon| ssoeor| oooevon| 77seor| sireos| 77seo| vvieeo| ssoeor| oooevon| oooevon| oooeron] 2eoeent

Module D

WDE35003 03| oteor| oaeos| aseeoz| ooveeoo| oovesoo| soseor| ateos| 1seos| 14z03| ooveeon| ooveeon| 7osEt0| -1szeos| -13sE0s| 2oseeon| ooveeon| ooveeon| sssEor| ooveeon| 7ssEor| ooveson| 37iEcs| aaseos| s22Ecs| ooveewn| saseor| oooeewn| 7ssEor| seseos| sseor| awseeon| sasor| oooeewn| oooeemn| oooeem| 2e7Eent

WDES5003 qsec0s| a0e01| 10ie0s| 10oe0r| oooeeoo| ouoeeoo| soseor| areos| aseor| aseos| oooeeoo| ovoeeoo| 7r2et0| reseos| as6e0s| 2r0sv00| cooeeoo| oooeeoo| sareor| oooeeoo| ereor| oooevoo| arsece| aareso| szseor| occoeeon| ssieor| oooevon| 7erE0r| saieos| 7ereo| vrseeo| ssseor| oooeron| oooevon| oooeron] 2eseent

WDE34343 a0ag03| 1a0e01| 75603| 139801| 000400 000Ew00| -t00Ee00| asEs| 228e04| 285603| oo0v0| o00Ew00| -t1sE0s| atseos| 216e03| 2626400| 0ovEw0| 000Ew00| -tt6Es00| oooEe0o| t1seeoo| oooeson| ssoeos| t41e08| 9eoE0e| oooeeo0| aseeor| ocoeeoo| vtseeon| 134505| t.15€400| teoee00] ase0r| ocoeeoo| oooeeon| oooevon| 4sseror

A T -oco| soco| o] ssco| smco] ome] somoe| ssmcan] smcor] socon| oomin| rascin] szice] somcon| ameon| sz mcor| swese| awre] roscor| rorcior| omem| smeoe| roncon| sacm] soses] roscor| zsscon| ssscn] ameor| roscon| ssoce| amcor| oomcsn| omerro] 1ocee| ssrcor
£
b snco| soeo| ssea| sseo| swca] onen| o] suo] soco] soo] ameon] sueas] socal soca| soco| aveo| sseo| swea| | en| vmea| smea| snea| swea] o] sseo] saco| suco| o] sueu] o] woo| weo| soc] socn| o] s
c
s o] oo ssea| sseo| suca] onen| o] soro] soo] suco] ameor] soeas] sveal soce| saco| soco| saco| swce| soce| wee| | ssea| sue] oo o] saeo] suwo| soeo| o] sweu] sseo| woo| weo| soc] socn| o] s
oo [ [ [ O I I I
53 sca| o] suci] rsia| soea] onen| sowo| sowo| soco] suor] ameon] sows] soeu] sacu] anco| sne| ouen| owen| i roee| sseo| aneon| o] ] o] soo] rowol one] suco| anca| sveu| ssea| rsco| soon| soce] socn| ssen
2
= o, T P I S P P O
=
T o [ U O
=)
voraooo, [ [ [ [ [
swce| men| roca| rmes| sace] onen| svea| soco| soro] suco] ameon] vaeos| soeu] sven| swco| rwc| ouern| owen| e swce| swen| ancon| srer] sucn] o] iseo] sowo] omea] suco| snea| suen| suco| ssco| soce| voce| socn| eres
52w, IR P e
g | sse| soce| sece] ] oncen| suea| sseo| suco] smeo] smeor] sseo| sucal ruen| suce| smce| imen| | weo| sce| socn| ancn| soer] s suew| oo sses] owe] soco| inen| socu| smco| ssea| soen| voce] socn| sren
S [ woeosoo [ [ O [ [ [ [ [ O 0
| | soee| sece] ] oncen| suea| sseo| suco] smeo] smeor] sseo| sucal ruen| suce| smce| smen| | weo| | socn| ancn| soer| s suee] oo sses] owe] soco| inea| socu| smco| ssea| soen| voce] socn| sren
oo [ [ [ % % S
85 snce| sren| soico|_sece| omcue] oneen| suce| soo| soco] socor] ameor] saco vmen] swen| roeal sveu| ouen| owen| rrei] vace| ssen| ancon| snen| soen] o] suo] sieer] ome] soco| suca| sveu| swea| saca| soee| voce| socn| ras
.
2 or: [P P O I O P R T S R S R P P P
| ssicr| suco| rsicn] omcue] oneen| ssa| smeo| soco] oo ameon] sseo] swen] swen] awcal avc| ouen| owee| snei ssce| sren| aneon| smen| sucn] soe| sowo] saeer] owe] sneo| suea| socu| sweo| snca| soce| vocie| owcn| rzen
voraooo, [ [ [ S S
swce| awen| rseo| o] oncee] oncen| soee| soco| sseo] o] ameor] sueo] swen| soen] onco| vacu| ouen| owee| rsei swce| rsco| ancon| sown| zuen] o] zuco] saer] owes] suco| soca| vweu| smco| ssea| soen| voce| oocn| soes
13 [ ozsoous RPN N N O [ O
55 snco|_sscn| uen| soice| see] oncn| soea| s imeo] sveo] ameor] sses| swen] soea| anco| ia| oven| owen| cnce| ssce| ssen| awein| oo sueo| o] oo racr] oo onco| suen| snco| smeo| ruce| vocie] socn| swcn] e
2 [ worsncos [ 1 S O S O P P Y Y Y I Y
“ [ woessoos |

| woesass |

| woeseoo |

| woeasoos |

| woessoos |

| woessoos |

[ woesesa |

PEP ecopassport 5/5 HAGE-01400-V01.01-EN



